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B.A./B.Sc. (General) 2" Semester
1048
POLITICAL SCIENCE (In all Mediums)
Political Theory—II
Time Allowed : Three Hours) [Maximum Marks : 90

Note :(— (1) Question No. 1 is compulsory. Attempt any nine out
of total fifteen questions. Each has 2 marks and the
answer should be in 10—20 words.

(2) Rest of the paper is divied into four units. Each has
two questions. Attempt any one of 18 marks each.
(3) For private and reappear candidates, who have not
been assessed earlier for internal assessment, the
marks secured by them in theory paper will
proportionately be increased to maximum marks of
the paper in lieu of internal assessment.
(Compulsory Question)
1. (i) Define Power.
(i1) What do you mean by Authority ?
(1ii) Write down two characteristics of Legitimacy.
(iv) Write down any two types of Political Culture.
(v) What do you mean by manifest Political Socialisation ?
(vi) Write down political rights of the citizens.
(vii) Write down any four duties of an individual.
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(viii) Define Rights.

(ix) What is the importance of December 10 ?

(x) What do you mean by Social Equality ?

(xi) Write down any four kinds of liberty.

(xii) What is the origin of the word Justice ?

(xiii) Write down two characteristics of Social Change.
(xiv) What do you mean by Direct Democracy ?

(xv) Define Elitest theory of Democracy. 9x2=18
UNIT—I
Define Authority and also discuss its characteristics.
6+12=18

Explain in detail the meaning and agents of Political

Socialisation. 6+12=18
UNIT—II
Discuss the meaning of rights and its different kinds.
6+12=18

Define Human Rights and explain its characteristics.

6+12=18
UNIT—III
Define Liberty and discuss the safeguards of Liberty.
6+12=18

What do you mean by Justice ? Discuss its political and social
dimensions. 6+12=18
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UNIT—IV :
8. Write down the meaning of social change and discuss various
factors of social change. 6+12=18

9.  “Liberal Democracy is the best form of Government.” Do you
agree with this viewpoint ? 18
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(sFard W)
1. () e & afwmn @)
(i) @< q uwr w7 AP B 7
(il) I=gaT N Fg A APwand forar)
(iv) Tofos depla @ @8 @ R R
(v) Ycuer UAfae qreieee @ F®r sfvum ® 2
(vi) A& & uoHifos st fod |
(vii) i $ @I IR Foid o/ |
(viii) A @Y uftsmem @)
(ix) 10 R # F: H8cd 2 ?
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(x) qElE qAFAT 1 F 9 g 7

(xi) @aFar A Fg TR B o)
(xii)mm%méaﬁﬁﬁr@h

(xiii)y g oRada # A% @ fadmad forr )
(xiv)Jca®l dedd § E @ A § 7

(xv) Arear & fafme of Rrgia & sdf forl) 9x2=18

gfe-1 .
goar ¥ Fur A 2 7 gEe RYvaei @ aren w1
6+12=18

e NP G SR i A S

Y| 6+12=18
L\ |

IRFRT 1 3 Ty N @ Al el @ aren #:1)

6+12=18

A AR # gRwmen @ AR gge fagmad

6+12=18
: -1
o #1 uftwmer o ok wdAar & Sumi @ euren

HY | 6+12=18

g A T AN 2?7 e TeAee R wEle gel #
rer F | 6+12=18
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8. g uRada &1 ad. o | amfoe oRads & faf acal

Eal aaf_ Cxdl 6+12=18

9. “ ‘IERAD AFA’ TER AN gE F= B B0 Fw A
W fdax & @gwd & 7 18

(d7ret nigeTe)
32 :— (1) yms 359 1 st 31 15 & a=t 9 yms 9|
T yAs T 2 vix 951 €39 sasar 10—20 Fuet
fg 32 i
(2) =<t dug @ 99 gfee 761 I3 glse fe € yus
51 39X glse RS It ffa yus a3 I3 yis
T 18 vig T5|
(3) yERe w3 F-nning fefenraeint 2, fagt @ niegat
&g € 399 adI BA, Gust wnmar faust ifimr
&9 yuz Faat ¥ »ipus nigHe, Goat ¥ wiegat
H&aE & aae dg9 eur I3 Faar
@it yrs)
1. (i) =St & ufgsmar fad
(i) AT 3 IgsT o T I ?
(iii) Bfgs3r T It € fermzet o)
(iv) Iwaif3a Afgmmarg Tt aet € famdt fsd
v) Y mlaes 3 & 3w J 7
(vi) safga @ Iwalfza niftara fad
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(vii) fenadt @ It 99 agse fod)

(viii) niforarat € ufgsmar fau

(ix) 10 A9 & ot HI33T I ?

(x) PHTAE ANST 3 ot 3w I 7

(xi) A3393T Tt et T famnt &

(xii) fonit mae & G3ut a9 fad

(xiil) oA ufgeass et It @ fermsret fou|
(xiv)Yy3Y B339 3 3037 off I I ?

(xv) B339 ¢ <fhme <9ar € fAui3 & now fed

9x2=18

gfse-1
2. H3 I A gw T ? foen It feRmset @ fenrfimr &3
6+12=18

3. I3 AHHigeE € 3= »i3 fer @ BHet & fersa &

fenrfam a3 6+12=18
gfse-I1

4. nffaarat =7 wigg TH w3 fereht -39 famt & fenrfimr

Ccll 6+12=18

5.  Haut wifgget @ ufgegmr fe@ w3 ferdnt femmset fod)
' 6+12=18
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gfse-11I
6. H3393 T ufgsmr fsdt w3 AS393 2 Sfimr Guret & fenrfimr

| L 6+12=18

7. fonit &t I I ? oA IHSHER i3 AHfaa Yut &t fenirfimrr

ad| 6+12=18

_ gfese-1v
8. nAHTaa ufgedss & nige fed| fore FU-Jud I3T & ggor
F91 : 6+12=18

9. “‘Gergerdt =39’ AIAT € HY I T famm 317 ot IAT
fen fegg &% Afouz T ? 18
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